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DIFFERENTIAL EQUATIONS

1. The solution of the differential equation

dy z+y

— = satisfying the condition
dx T
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y(1) =1lis(My = lnx + = (2) y = zlnx + z*

By=ze(z —1)(4)y = zlnx + =

° Watch Video Solution

2. Solution of the differential equation

cos zdy = y(sinx — y)dz,0 < z < % (A)

secx = (tanx + ¢)y (B) ysecx = tanz + c

(C) ytanxz = secx + ¢ (D)

tanx = (secx + ¢)y

° Watch Video Solution
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3. The population p(t) at time t of a certain

mouse species satisfles the differential
dp(t)
dt

p(0) = 850 , then the time at which the

equation = 0. bp(t) — 450 If
population becomes zero is (1) 21n 18 (2) In 9

(3) % In 18 (4) In 18

o Watch Video Solution
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